Schofield & Sims | Written Calculation: Subtraction 7

More practice Set out these questions yourself to answer them.

L75-123 =7

B 888-LL7 =?

Bl 739-127 =2

I 967 - 264 =?

M 469-327 =7

IEl 573-L02 =7

Problem solving

BE]l A farmer had 678 sheep. She sells
315 of them at market. How many
sheep has she now?
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lE Two numbers have a difference of 733.
If the larger number is 969, what is the
smaller number?
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Kim had £468 in a bank account.
She took out £225. How much money
stayed in the bank account?
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3 6387 people went to a football match.
|36 of them left early. How many
people were there at the end?

Ve

| How did I find Step 2?

[ ] Easy

[JOK [ Difficult






